
24,541 cL      =       ........................................................................................................     dL

76,38 L      =       ........................................................................................................     cm³

501,609 dL      =       ........................................................................................................     L

563 m³      =       ........................................................................................................     L

599 cm³      =       ........................................................................................................     mL

53 cL      =       ........................................................................................................     dL

794 dm²      =       ........................................................................................................     m²

345 L      =       ........................................................................................................     cm³

729,7 dL      =       ........................................................................................................     cL

57,9 cm³      =       ........................................................................................................     mL

305 cL      =       ........................................................................................................     mL

33 m³      =       ........................................................................................................     hL

69 kg      =       ........................................................................................................     hg

57 cm³      =       ........................................................................................................     mL

78,07 cL      =       ........................................................................................................     mL



24,541 cL      =     2,4541 dL

76,38 L      =     76,38 dm³      =     76380 cm³

501,609 dL      =     50,1609 L

563 m³      =     563000 dm³      =     563000 L

599 cm³      =     0,599 dm³      =     0,599 L      =     599 mL

53 cL      =     5,3 dL

794 dm²      =     7,94 m²     (komma 2 x 1 plaats naar links)

345 L      =     345 dm³      =     345000 cm³

729,7 dL      =     7297 cL

57,9 cm³      =     0,0579 dm³      =     0,0579 L      =     57,9 mL

305 cL      =     3050 mL

33 m³      =     33000 dm³      =     33000 L      =     330 hL

69 kg   =   6,9 hg

57 cm³      =     0,057 dm³      =     0,057 L      =     57 mL

78,07 cL      =     780,7 mL


